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                                        Answer any four question:                                               8x4 = 32 

1. Define family? Explain the various functions of the family.                                    2+6  

2. Why is marriage considered as an important social institution? Discuss.              8 

3. Discuss the rules of marriage with suitable examples.                                              8 

4. What do you mean by kinship? Write about classification of kinship.                 2+6 

5. Define clan. Discuss the functions of clan.                                                                  2+6 

6. Distinguish between caste and class as two important forms of social stratification.    8             

7. What do you mean by social stratification? Write the main features of social stratification 2+6  

8. Discuss about social evolution and social progress.                                            

 

                                  ব�ানুবাদ 

                              �যেকােনা চার�ট �ে�র উ�র দাও ।                                           ৮ x  ৪ = ৩২ 

১। পিরবার বলেত িক �বাঝ ? পিরবােরর িবিভ$ কায %াবলী স(েক%  আেলাচনা কর।       ২+৬                                                                           

২। সামা-জক �িত/ান িহেসেব িববােহর 123 আেলাচনা কর।                                      ৮                                                                     

৩। উদাহরণ সহ িববােহর িনয়মাবলী আেলাচনা কর।                                                          ৮ 

৪। আ6ীয়তা স(েক%র �7ণীিবভাগ স(েক%  আেলাচনা কর।                                         ৮ 

৫। �গা: বলেত িক �বাঝ ? �গাে:র কায %াবলী আেলাচনা কর।                                        ২+৬                                                          

৬।সামা-জক ;রিবন<ােসর দু�ট =প িহেসেব জািত ও �7ণীর মেধ< পাথ %ক< কর ।              ৮ 



৭। সামা-জক ;রিবন<াস বলেত িক �বাঝ? সামা-জক ;রিবন<ােসর মূল BবিশD< 1িল �লখ।    ২+৬ 

৮।  সামা-জক িববত%ন ও সামা-জক �গিত স(েক% আেলাচনা কর।                        ৪+৪                                                                                  

 

 

 

  

 

  


